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1. Using words, explain what is meant by the mathematical expression Lm} fx)=K
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Use a graph and complete the table to investigate the value of the following limits. {Calculator)
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Determine whether each statement about the graph of f(x) below is True or False.
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lim f(x) exists at every cin the interval (1,3) T

lim f(x) exists at every c in the interval (-1,1) "r

Use the graph of f(x) to find the following.
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5. For the following function, draw the graph on the grid provided, and find x“’{k f(x), lirgl_ f(x), and

Iin} f(x) or explain why it does not exist.
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6. For the following function, draw the graph on the grid provided, and find lin}+ @, Iiml_f(x), and
x== X=s—

lim f{x) or explain why it does not exist.
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7. Given that ll_r:r}: f(x)=7and Ll_l}g g(x} = 4, evaluate the following limits.
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8. Evaluate the following limits.
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